Trigonometric Identities
Reciprocal Identities:

| 1

(1) csCx =33 (2) SEC X = Tosx (3) cotx = i
Quotient ldentities:

(4) tanx = cosx (5) cotx ==

Pythagorean Identities:

(6) cos?0+sin’0=1
(7) cot?0+1 =csc?6
(8) 1+tan?0 = sec?0

Sum Identities:

(9) sin(4 +B)=sin4cosB+cosAsinB
(10) cos(A4 + B) =cosAcosB—sinAsinB

tan A+tan B
(1) tan(A + B) — 1-tanAtanB

Difference Identities:

(12) sin(4 — B) =sinA cosB—cosAsinB
(13) cos(4 —B)=cosAcosB+sin4sinB

v tan A—tan B
(14) tan(A T B> — 1+tandtan B

Double Angle Identities:

(15) sin24 =2sindcosd  (16) cos24 = cos’4 —sin*4
(17) cos24 =2cos’4—1

(18) cos24 =1-2sin*4
2tan A
1-tan?4

(19) tan 24 =
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